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Reasoning

Problem Solving

Aboxof chocolates costs £1.25
Hannah and Thomas wantto buy 4
boxes of chocolates.

IfHannah pays £2.45, how much
mustThomas pay?

Emma has five pounds.
She spendsa quarter of her money.
How much doesshe have left?

In the sale | bought some clothes for
half price.

Jumper £14

Scarf €7

Hat  £250

Tshirt £6.50

o Howmuchwould the
clothes have been full price?

o Howmuchdid! spend
altogether?

o Howmuchdidl save?

How many tickets could they buy for
£100. How many differentways can
youfindto do this?

Hazel buys a teddy bearfor £6.00,
board game for £4.00, a cd for £5.50
and a box of chocolates for £2.50

She has some discount vouchers.

She can either get£10.00 off or half
price on heritems.

Which voucher would save her more?
Explainyour

Yasminis choosinga new mobile
phone. One phone costs £5.50 per
month. The other costs £65.50 for a
year. Which s the better deal overa
year?

Kim boughta chocolate bar and a
drink. The cost of them both together

one of the boxesbelow.

£185 | 75p | €156
£174 | £225 |£100
£180 |8p | £210
£144 | £3.06 | £150
£120 |£125 |E£160
€125 |90p | €127

Using these five clues canyouwork out

‘which price
1

the boxesis correct?
You need more than three coinsto
make this amount.

‘There would be change when
usingthe mostvaluable cointo
buythem.

The chocolate bar cost more than
50p

You could pay without using any
coppercoins

The chocolate bar cost exactly half
the amount of the drink.
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Orderthe following amounts pladng
<or>betweenthem.

£25.62, 2657p, 2567p.

Robbie buysa toy car for 99p, a
yoyofor £1.05, three sweets for30p
each anda chocolate barfor 47p.
Does he have enough money to pay
witha £5 note?

Martina buys a jacket for 2165p and
at shirtfor £9.99. Hamid buysa
coat for £32.00. Who spends the
most?

‘Which wouldyou rather have, three
quarters of £2.40 or one quarter of
£6?

Explainyourreasoning.

Which wouldyourather have, five 50p
coinsor 12 20p coins?
Explainwhy.

1 chocolate bar costs the same as 4
sweets.

4 sweets cost the same as 2 stickers.
1 sticker costs 30p.

How much doesthe chocolate bar
cost?

Choose a route through the money.
maze. You can only go on each
square once.

Can you findthe route that makes
the highestamountof money?
Which route makes the lowest
amountof money?

+£100

Lola and Jamal are sharing some
coins. Lolagets half the amountof
Jamal. Which coins could they each
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